8.5 Practice WS 1 Ringbloom Pre-Calc

Name: Hour:

Solve for all 0<x<2x. EXACT answers only! Show all of your work.

1. csc?x—2cotx=0 4. secX+cosx =tanxsinx—1

2, 2 —secX +sec? x 5 tanx —secx =~/3

3. VJ2cse? x+cscx =A/2 6. 4cos* X —50082 X +1=0



7.

8.

9.

2tan’x —3secx+3=0

COtX—\/§=CSCX

tan* x — 2 = tan® x +sec? x

Answers to Trig. Equations Worksheet #1:

1.)

5.)

8)

12.)

T )

6.)

9.)

3)

10.)

10.

11.

12.

Sz Iz
4 4
z 3
2' 2

cosx—cotx=0

secx =1+tanx

sin®x—tanxcos®x =0

27 Ar
4) —_—,
3 3
7.) 0
11.) 0



